Linear Algebra — 1594
Alfaz Ally
09/06/2012

Homework #1 page 100 # 1&3

Referring to the matrices of exercises 1 and 2 please also compute Br, Dr,Dr+C, ABr,BtA, and ErC.
For these computations explain any undefined expression

<357 el ) ofh ) e (n ]
“[)

1. -2A,B-2A, AC,CD

A. -2A
2(=2) 0(=2) 1(-1) | -4 o0 2
4(=2) -5(-2) 2(-2) - -8 10 -4

B. B-2A= B+(-2A)

ie

L[4 0 2 _[(—4)+7 (=5)+0 142 J
-8 10 —4 | ((-8)+1 (=4 +10 (=3)+(-7)

EEDRERS

2X3 2X2

In order to multiply matrices the two numbers indicate by the lines have to be the
same size so in this case we cannot multiply so it is undefined.
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] Compute 3l,-A and (3l2)A

1%3 O*SJ (2 =5 _| 1
0«3 1%3 3 =2 -3

_[2+#3 (=5)*3 | _[6 -15
(3'2)'6"[3*3 (—2)*3] '[9 —6]
Br
7
|7 =5 1 _
B= 1 -4 _3 B transpose = | —5
1
Dr
(3 5 |13 -1
D_[—l 4] Dtranspose—[5 4j
Dr+C
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7 1
2 0 -1 17 -5 1 | e
A 4 _5 2 B—1 _1 _3 B transpose =| -5 4
1 -3
7 1
1 =3

QR*x=7)+O0*=5)+(-1x—-1) (2*1)+ (0% —4)+ (—1 *x3)
(—4*=7)+(-5*-5)+2=*—-1) (4*1)+(-5%x—-4)+(2*-3

-13 5 _ame
[—5 18 ] = AB
BrA

7 1
47 -5 1 {2 0 -1 -
B_E _4 _BJ A—E} _c ZJ Btranspose—[—f :4}
_75 _1 ,{2 0 —1}
1 - 4 -5 2

(7+2)+(1x4)+(0%0) (7+x0)+ (1 x-5)+(0%0) (7+x-1)+@1*2)+(0%0)
(=5*2)+(—4*—4)+(0x0) (-5*0)+(—4*-5)+(0=*0) (-5*—-1)+(—4+2)+(0%0)
(1%2)+(—3%4)+(0%0) (1x0)+ (—3*—-5)+(0%0) (1x—-1)+(—3%2)+(0%0)

18 -5 -5
=|1-26 20 -3
-10 15 -7






